	Mass (kg)
	Force(mass*grav.)
	ΔT(time/revolution)
	ω(2π/Δt)
	V=ωr     or   T=ωr

	.0212
	.208
	.5998
	10.4755
	5.2264

	.0323
	.3165
	.743
	8.456
	4.228

	.06285
	.61593
	.5263
	11.9384
	5.9692

	.044
	.4314
	.6011
	10.4528
	5.2264

	.056
	.5488
	.5053
	12.4345
	6.2172


###= not used

Force = (.006613 +- .0005789)(velocity)2 + (.04739 +- .003461)(velocity) + (.00001202 +- .003987)
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Purpose: to find the relationship between Force and Angular Velocity

Equipment: clip, washers, string, half of a paper hanger bottom, and a rubber stopper 

Procedure:

[image: image2.jpg]



Spin the stopper horizontally keeping the radius (string) at a constant distance from the top of the hanger piece. Measure (time) and count the number of rotations. Repeat for multiple data points and calculate the force and angular velocity of the stopper. Then plot velocity vs. time on a graph and take the best fit curve. 
Data: above---^

Data Analysis: We opted to not use two points that are highlighted above because they didn’t follow a clear trend

Force = (.006613 +- .0005789)(velocity)2 + (.04739 +- .003461)(velocity) + (.00001202 +- .003987)
Conclusion:  The relationship between Centripetal Force and Velocity is  Fc= (.006613 +- .0005789)v2 + (.04739 +- .003461)v + (.00001202 +- .003987) . Sources of error could have been friction between the rope and the tube, keeping the radius constant, keeping the rotation parallel to the ground, and counting/timing of rotations.
On time: ^.^

